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Class 3

Important Instructions:

Name of the Candidate (in Capital Letters):

Candidate Signature: Invigilator’s Signature:

All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.
Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions. It is divided into the following
sections —

For class 1st to 5th: Mathematics, Science, English & General Knowledge

For class 6th to 10th: Mathematics, English, Science, General Knowledge & Logical
Reasoning

Every question has one correct answer.

Please read the instructions for answering given on the OMR sheet. Candidates must
submit a completely filled OMR sheet before leaving the hall.

There is no negative marking.

SPECIAL INSTRUCTIONS:

OMR sheets will be processed by electronic means. Invalidation of answer sheet due to
incomplete/incorrect filling of the answer sheet will be the sole responsibility of the
candidate.

Candidates must completely fill their Hindustan Olympiad roll number (not school roll
number), class, stream (for class 11 & 12 only).

Do not write or mark on this answer sheet outside the demarcated areas.

Multiple answer markings are invalid.

Candidates must consult the invigilators to get the OMR sheet details cross-checked, in
case of any doubts.

An example is given for correctly filling the OMR sheet.
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Section A: Mathematics

1. There are 4 rows of rose plants. Each row has 6 plants. How many rose plants are there in
all?
TATE & el Bt 4 Ul gt €1 e dfad o 6 Ie 1 3t § fobam ame & q g2
(A) 10
(B) 23
(©) 20
(D) 24

2. There were 3856 trees in a forest. In another forest, there were 4795 trees. How many
more trees were there in the second forest?
Teh SITTel H 3856 UG U1 U 39 ST H, 4795 U | UGl STe i JaiT H G- ST
# foaq aifere Ug &2
(A)939
(B) 1349
(C)8651
(D) 1689

3. Four friends got a prize amount of % 3,569. They decided to share the amount fairly.
How much amount was left over after the friends shared them equally?

IR GGl ! 2 3,569 I GRIBR IR el | 351 AT ! FHH U I il HA BT

e fora | o gRT 90 U § AT HRA & d1G farat 1R st ot
(A)R1
(B)X9
(C)R0.25
(D)5
4. Megha has 18 balls. She gives one-third to her friend. How many balls are left with
Megha?

AU & U 18 7S § | I8 31U IR &1 U [agTs aal & | el & U faait 71 o<t 82

(A) 15
(B) 6
(C)9
(D) 12



5. What is 350 rounded to the nearest hundred?
350 &I FAceay W & 991 FHel Idl 82
(A)200
(B) 400
(C)350
(D)300

6. Find the missing number.

ATYAT AT BT gdl T

OO OzOE®

(A)40
(B) 30
(C)45
(D) 50
7. Ina 3-digit number, 2 is at hundred’s place, 0 is at one’s place and 1 is at ten’s place.
Find the number formed by these digits.
(A) Two hundred and one
(B) Two hundred and ten
(C) One hundred and two
(D) One hundred and twenty

3P TN H, 2 W H R’IMWE, 0T VW 3R 13T P ™MW g1 37 3ip!
GRT TTféd BT J1d DIt |

(A) T 3t TH
(B) & HIgH
C) TH Tl
(D) U A &
8. Determine the incorrect statement.
TTad YA RuiRa &9
(A) 12,054 = 12,054
(B) 3,465 > 3,456
(C)2,841< 2,814
(D)1,423 =1,423
9. Find the option in which the numbers are arranged in the correct order.
39 fadhe &1 udr e forad gt sH § FeR arafyd fhu e € |
(A)234, 239, 243, 235, 253
(B) 225, 231, 236, 247, 251




(C) 236, 241, 245, 237, 255
(D) 215, 225, 234, 227, 236
10. Which angle is formed by the hands of the clock when it is 3 o’clock?
(A) Obtuse angle
(B) Acute angle
(C) Reflex angle
(D)Right angle

399 1 R YS! & gIUT B DI T HI0T 9T 87

(A) 3F BT
(B) g IV
(C) UdIc HIul
(D) FHSDII

11. The sum of two numbers is 254. If one of the numbers is 98, then find the other number.
&l TS BT ANT 254 § | AT TSl H T Udh U= 98 ©, Tl qus] TeAT 1A HIToTe |
(A)156
(B) 165
(C)150
(D) 146

12. If a shopkeeper sold 231 oranges in a day. How many oranges did he sell in one week?
TR e gPMER = U o I 231 TR od | T Twig H 39 foha= Hax adl?
(A)1,386
(B) 1,155
(C)1,617
(D)1,848

13. Harish went to the playground at 5:40 pm and returned home after 1 hour 7 minutes.
What was the time when he returned?

TR T 5:40 9 WA & A A 7T 3R 1 8 7 e 1 TR AIe | 31 JHY T o
Jg qle?
(A)5:47 am
(B)5:47 pm
(C)6:47 am
(D)6:47 pm
14. Find the fraction of the shape which is shaded.

THR P I 3 JTd B ol Bifpd gl




(A)=
(B)=
€)=
(D)5

15.A+B =48

If the value of A is 17, then what is the value of B?

gfe ABTHM 17 8, A B BT HH 1 87
(A) 31
(B) 28
(C)30
(D)25

Section B: Science

16.

17.

Grasses grow mostly in
(A) Topsoil

(B) Solid rock

(C) Subsaoil

(D) Bedrock

U SATGTR Aagal gl

(A) S et

(B) 314 FgH

(C) Yf& o - BT St &1 YT

(D) 3UR

From where do the plants get water and minerals?
(A) Sunlight

(B) Stem

(C) Sail

(D) Seeds

ardf 1 T SR @S el 4 firerd €2



(A) IS DI A=A
(B) T
(C) foret
(D) &S

18. Which of the animals does not belong to the group?

TR A B g9 | Gefid T8 22

(D)

19. Which of the following activities should not be done inside the house?
(A)We should keep our house clean.
(B) We should play cricket in our house.
(C) We should mop the floor regularly using phenyl.
(D) We should sweep the floor of every room.

fFofifad & 9 o @ nfafafial R & siex 781 &1 & =iy e?

(A) BH 30F TR &I TP 3@ Mg

(B) BH (U4 R A fobdve WA A1RT|

(C) & Fafld ¥ ¥ fih1sd &1 ST Fxd By & UisT a1t
(D) B B R P B B g 1 A1V

20. Identify the substance which does not dissolve in water.
(A) Sand
(B) Sugar




(C) salt
(D) Glucose

39 Uerd & Uga S Ut # T8 gadi g |

(A) Xd
(B) it
(C) ¥
ORER

21. To which category does this animal belong?

(A)Herbivore
(B) Omnivore
(C) Carnivore
(D) Producer

g TR fhg o 182

(A) TMHTER
(B) HaigRl
(C) ArgHeR
(D) Sdicdh
22. Which process involves evaporation, condensation and precipitation?
(A)Flood cycle
(B) Precipitation cycle
(C) Pollination
(D) Water cycle

g ufspar H arefiesur, Go== ik auf 2nfire 82

(A) dig dh
(B) 99 IH



(C) IRITH
(D) oI ddh
23. Which of the following is produced by plants?

foffad 7 3 o delf gr1 A giar g2

(B)
\ JAM
e
©)
(D)

24. Which is the coldest planet?
(A) Earth
(B) Venus
(C) Jupiter
(D) Mars

A2 feu U famr el & @ 98 ST Ug S 1 32

(A) gt
(B) X[
(C) Sgwid

(D) HTd U8



25. The Earth is tilted on an imaginary line called
(A) Equator
(B) Axis
(C) Tropic of Cancer
(D) Tropic
Gl U BTed-1ch @1 IR Fob1 g3 o ford CIHRSIGIE
(A) HE T
(B) ¥
(C) &b 3T
(D)
26. Which of the picture shows a person who deliver letters to the houses?

AR A &I U e ! fewrar g o 'Rl &) udf faafkd sar g2

(A)

(B)

(©)



(D)

27. Which of the houses provide shelter to people living in the snow?
P TR T T Ig aTd AN DI 31T UM HRd 62

(A)

(B)

(©)

28. Which of the organs help us to breathe?
(A) Eyes
(B) Nose



29.

30.

(C) Ear

(D) Skin

DI T 3T §H Y o1 T Aeg Bl /2
(A) 3E

(B) HTh

(C) &I

(D) adIl

What causes the fruits to fall from the trees?
(A) Potential energy

(B) Electrical energy

(C) Gravitational energy
(D) Chemical energy

Us! Q %d IR &1 o1 HRUT 87

A fufas St
(B) faggd ol

(C) TE@THYTT Soll
(D) IS Sl

Which process is represented in the figure?

(A) Freezing

(B) Melting

(C) Condensation
(D) Evaporation

3pfa # Ty ufshar &1 ufafAfia favar S g2

(A) STHAT
(B) eI
(C) Heuu
(D) HY



Section C: English

31.

32.

33.

34.

35.

36.

Which type of adjective is used in the statement given below:
Whose car is standing in front of the door?

(A) Cumulative

(B) Descriptive

(C) Interrogative

(D) Possessive

This is the place | fell from the bicycle.
(A)when

(B) where

(C) what

(D) why

Which word forms the best pair?

Hammer and

(A) Noise

(B) Hands

(C) Metal

(D) Nails

Choose the proper adjective from the sentence given below.
We should not walk on grassy area in the park.
(A)grassy

(B) area

(C) park

(D)walk

Choose the appropriate ending quotation.

What a beautiful place_

(A)?

(B)!

©).

(D)*

Choose the noun which shows more than one and complete the sentence.
Raj’s mother gave some bananas to the



(A) Gate
(B) Friend
(C) Monkeys
(D) Brother
37. Mrs. Sharma has returned from China.
(A)just
(B) today
(C) never
(D)ever
38. Choose the correct word to fill in the blank.
We should always our mistake.
(A)except
(B) expect
(C) aceept
(D) accept
39. He could lose weight with
(A) Detailed account
(B) Regular exercise
(C) Bad company
(D) Walking fast
40. Find the incorrect sentence.

Wi

(A) I am going for a walk.
(B) I will go for a walk.
(C) I going for walk.

(D)1 go for a walk.

Section D: General Knowledge

41. is the biggest continent in the world.
(A)Europe



42.

43.

44,

(B) Asia
(C) Australia
(D) Africa

_ choeraed seiEeiglu gl

(A) T

(B) TR

(C) Sfregferar

(D) 3f%hichl

Who is known as “Netaji”?
(A) Gandhi

(B) Bhagat Singh

(C) Subash Chandra Bose
(D) Chandra Shekhar Azad

"Jdmo & T U H fBd ST SiTdr 872

(A) TTieft

(B) HTCfE

(C) gaIN d% a1

(D) TERITR 3G

Which is the most populated country in the world?
(A) China

(B) India

(C) Brazil

(D) Russia

ST & qa 31 SaTdiaTa o= DI 91 82

(A) 9

(B) Sfsa

CEISE

(D) =4

Where is “Golden Temple” situated?
(A) New Delhi

(B) Jaipur

(C) Agra

(D) Amritsar




45.

46.

47.

(A) 3 et

(B) SR

(C) 3R

(D) STHAWN

What is the national sport of India?
(A) Football

(B) Hockey

(C) Cricket

(D) Badminton

YR BT AP W B 1 52

(A) Pesid

(B) BT

OREET

(D) SSftieq

Which is the biggest planet in our solar system?
(A) Mars

(B) Jupiter

(C) Saturn

(D) Neptune

gAR IR HSd &1 YO 95T Ug B9 I1 872

(A) HTd T8
(B) Fgefd
(ORIEPH
(D) e

Which state in India has the highest literacy rate?
(A)Himachal Pradesh

(B) Haryana

(C) Kerala

(D) Tamil nadu

HRA ¥ frg Ieg H Ierdr o3 999 31 g2

(A) oA U=
(B) TN

(C) bR

(D) dfAaTg



48.

49,

50.

Who was the second prime minister of India?
(A)Narendra Modi

(B) Charan Singh

(C) Lal Bahadur Shastri

(D) Indira Ghandhi

HRA & AR TUFHA B A7
(A) T HIct

(HERURH

(C) ITel I8TgR Xt

(D) far ieht

Who invented Computer?
(A)Charles Babbage

(B) Benjamin Franklin
(C) Thomas Edison

(D) Archimedes

SRR BT ATASHR fba- foram

(A) I SO

(B) S Yrapfer
(C) U1y TfeTH
(D) SIS

Gir National Park in Gujarat is famous for

ToRTd # IR A9 g ¥ e g g1

A







